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call:
Tm({formula = ¥101_105PenGY 1025 L OFEEESE" ~ ¥101_105PeoGt 1015 L OFHMHEE )

Residuals:
Min 10 Median 3 Max
-0.153577 -0.015966 -0.000575 0.032205 0.079523

coefficients:

Estimate std. Error t value Pr>=|t|)
(Intercept) -0.021557 0.007323 -2.944 0.00565 *#*
X101_105Pe0GS$ 1014 A OIFEIAES" 0.599367  0.055279 10.843 6.85e-13 #w*

signif. codes: 0 “#¥%' 0.001 ‘**’ Q.01 ‘*' 0.05 *." 0.1 * ' 1

Residual standard error: 0.04446 on 36 degrees of freedom
Multiple R-squared: 0.7656, Adjusted R-squared: 0.7591
F-statistic: 117.6 on 1 and 36 DF, p-value: 6.851e-13

7L : 102 FE3f 101 2 NP RR IR E

call:
Im(formula = X101_105PenG$ 103F A OFHMRESE " ~ X101_105PeoGs 1025 A OFHIRERE )

Residuals:
Min 10 Median ETy) Max
-0.07991 -0.03506 -0.02018 O0.01218 0.37860

Coefficients:

Estimate 5td. Error t value pPr(>|t])
(Intercept) 0.01224 0.01403 0.872 0. 3849
X¥101_105PeoGS 1028 A OFERE" 0.65804 0.14598 4,508 6,69e-05 *¥*

signif. codes: O *##=' Q0,001 ‘##' Q.01 “*" 0.05 *." 0.1 * ' 1
Residual standard error: 0.08042 on 36 degrees of freedom

Multiple R-squared: 0.3608, Adjusted R-squared: 0.343
F-statistic: 20.32 on 1 and 36 DF, p-value: 6.689%e-05

[E7< © 103 FE#f 102 2 NP RR IR E



call:
Tm(formula = X101_105Peoccs 1045 A OFHMESRE" ~ X101 _105Pe0cs 1035 A OFMREE "D
Residuals:
Min 1g Median 30 Max
-0.186587 -0.023785 0.008787 0.047598 0.149488

Coefficients:

Estimate Std. Error t value Pr{=|t]|)
(Intercept) -0.03468 0.01228 -2.825 0.00766 **
¥101_105Peoc$ 1038 A OFMHEEE" 0.30229 0.12461 2.426 0.02041 =
signif. codes: O *##%' 0,001 *#*%° 0,01 °“*' 0.05 *." 0.1 * " 1
residual standard error: 0.0752 on 36 degrees of freedom

Multiple R-squared: 0.1405, adjusted R-squared: 0.1166
F-statistic: 5.885 on 1 and 36 DF, p-value: 0.02041

B : 104 R} 103 2 A LSRR R G E

call:
Tm(formula = X101_105PeoGS 10535 AOFEEEE" ~ X101_105Pe0Gs 1048 ) OFMREE ")

residuals:
Min 1q Median 3q Max
-0.068714 -0.019838 -0.005319 0.024576 0.109642

Coefficients:

Estimate 5td. Error t value Pr=|t|)
{Intercept) 0.0001355 0.0067535 0.020 0.984
X101_105Pe0GS 1045 )\ OFHIRESE" 0.7616620 0.0770657  9.883 8.49e-12 #¥¥

signif. codes: 0O F#%%' 0,001 *#*' 0,01 ‘*' 0.03 *." 0.1 ° " 1

residual standard error: 0.03751 on 36 degrees of freedom
Multiple R-squared: 0.7307, Adjusted R-squared: 0.7232
F-statistic: 97.68 on 1 and 36 DF, p-value: §.493e-12
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PeoG = a + S,FishG + S,StoneG + f;InstuG + g,PowG + S.WatG + f,MakeG
+ p,SaleG + p,CarG + g, LiveG + g,,InfG + g,,FinG + g,,HouG + f,,TechG
+ £.,SupG + B, PubG + S, EduG + £,;MedG + S, ArtG + 5,,0thG + 3,,NonG
+e&
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call:
Tm{formula = PeoG ~ SaleG + EduG + PowG + MedG, data = ALL)

Residuals:
Min 10 Median 30 Max
-0.128931 -0.033900 -0.001809 0.029552 0.122846

Coefficients:
Estimate std. Error © value Pri=|t|)

(Intercept) -0.053491 0.011356 -4.710 4.32e-05 #w#*

salec -0.017985 0.01131314 -1.618 0.115122

Educ 0.032927 0.011849 2.779 0.008933 ==

POWG 0.012964 0.004374 2.964 0.005605 ==

Meda 0.068452 0.018183 3.765 0.000653 #=**

Signif. codes: 0 f##%#*' 0,001 *#=° 0.01 **° 0.05 *." 0.1 * " 1

Residual standard error: 0.06017 on 33 degrees of freedom
Multiple R-squared: 0.4959, Adjusted R-squared: 0.4348
F-statistic: 8.116 on 4 and 33 DF, p-value: 0.0001133
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